Answers 23/4/20
Relative Clauses
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Year 5 Maths-Area of Compound Shapes
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Year 6 Maths-Area of a Triangle 2
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Expected

5a. supplies

6a. who

7a. Usually, the person that the hunting
group left behind had a trouble-free day
in the sun, but today was different.

8a. Various answers, for example:

which every clan would now be
desperately searching for; whose leg was
still heavily strapped; who he worried
would feel useless because of the injury.

Expected

Sb. his grin

6b. where

7b. The sergeant, who was normally very
calm, was flapping an evidence bag
wildly.

8b. Various answers, for example:

which were normally quite helpful; which
the criminal had worn as he walked free
that moming; who was getting
increasingly frustrated.
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Expected

4a. Various possible answers, for example:
Jayda hammered on the enormous doors,
which fowered high above her.

5a. Various possible answers, for example:
She took off her bag, which she had been
carrying for days, and looked at her
weapons.

6a. Charlie is incorrect because the
relative clause ‘who had followed Jayda
and Harry all the way from the river’ refers
fo the group of catchers.

Expected

4b. Various possible answers, for example:
She was waiting for the twelfth wave in the
set which would be her greatest challenge
sofar.

5b. Various possible answers, for example:
She stood up on the surfboard that she
had been using for years.

6b. Sabrina is incorrect because the
relative clause ‘who had been surfing
since she was a child’ refers fo Mikaela.
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4a. A =33cm2 B = 80cm?
B has the larger area.
5a.108cm?

6a. Various answers, for example:

Accepfany compound shape with an
area of 72cm?. (8 squares)

Expected

4b. A =56cm2; B = 42cm?
A has the larger area.
5b. 36cm?

6b. Various answers, for example:

Accepf any compound shape with an
area of 48cm?. (12 squares)
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4a. Various answers, for example:

Expected
4b. Various answers, for example:

Accept any compound shapes with an
area of 36cm2. Each shape should have 9
squares shaded.

5a. Various answers, for example:
A.7x12=84cmz B.7 X7 = 49cm?

6a. Oscar is incorrect. 9cm x 40mm =
36cm? 7cm x 30mm = 21cm2 36cm? +
21cm2 = 57cm2. Josie has not converted
from mm to cm.

Acceptany compound shapes with an
area of 72cm2 or 720mme. Each shape
should have 8 squares shaded.

5b. Various answers, for example:
A.6x10=60cm2 B. 8 x 6 = 48cm?

6b. Josie is correct. 2cm x 5cm = 10cm2;
3cm x 5cm = 15cm2 10cm? + 15cm?2 =
25cm2
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4a. Rectangle = 72cm? triangle = 36cm?
5a. A =24cm? B = 21cm? C = 24cm?;

B has a different area.

6a. 9cm

Expected

4b. Rectangle = 96mm?; friangle = 48mm?
5b. A =30cm? B = 30cm?, C = 44cm?;

C has a different area.

6b. 11cm
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4a. Various answers, for example:
height = 70cm; base = 20cm;

area = 700cm?

5a. Abby s correct because A = 24cm?
and B = 27cm2. 27cm2 is larger than
24cm2.

6a.A= 3cmx8cm = 24cm?, 24cn? + 2=
12cm?

B =4cmx 9cm = 36cm?, 36cm2 + 2=
18cm?

18cm? - 12cm2 = 6cm?

Expected

4b. Various answers, for example:

height = 12cm; base = 12cm;

area = 72cm?

5b. Mo is correct because A = 18cm? and
= bem? bem2 x 3 = 18cm?.

6b.A= bcmx 12cm = 72cm?, 72m? £ 2 =
36cm?

B =7cmx 12cm = 84cm?, 84cm? +
42cm?

42cm2 - 36%cm = bcm?





